Page 1 of 16

Contract ID: 17114 Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017 District(s): C1, N1

Call Order: 114 Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	t Set:	Cat A	It Member:	
0001	151006M	1.000	26,360.00000	26,360.00				
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0005	153003P	(1)	45,000.00000	45,000.00				
PROGRE	SS SCHEDULE	LS						
0006	153005M	5.000	5,000.00000	25,000.00				
PROGRE	SS SCHEDULE UPD	ATE U						
0007	154003P	(1)	565,000.00000	565,000.00				
MOBILIZ	ATION	LS						
0010	157004M	1.000	65,000.00000	65,000.00				
CONSTR	RUCTION LAYOUT	DOLL						
0011	158003M	500.000	10.00000	5,000.00				
CAUTIO	N FENCE	LF						

Page 2 of 16

Contract ID: 17114 Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017 District(s): C1, N1

Call Order: 114 Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Roadway		Cat Alt	Set:	Cat A	It Member:	
0019	159003M	264.000	50.00000	13,200.00				
BREAKA	WAY BARRICADE	U						
0020	159006M	1,589.000	10.00000	15,890.00				
DRUM		U						
0021	159009M	1,272.000	20.00000	25,440.00				
TRAFFIC	CONE	U						
0022	159012M	10,845.000	12.00000	130,140.00				
CONSTR	UCTION SIGNS	SF						
0023	159015M	6.000	800.00000	4,800.00				
CONSTRI	UCTION IDENTIFICA ⁻ (8'	TION U						
0024	159027M	15.000	1.00000	15.00				
FLASHIN	G ARROW BOARD, 4	' X 8' U						



Page 3 of 16

Contract ID: 17114

Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017

District(s): C1, N1

Call Order: 114

Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE

Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set	/ Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Al	t Set:	Cat A	It Member:		
0025	159030M	39.000	3,000.00000	117,000.00				
PORTAB SIGN	LE VARIABLE MESSAG	E U						
0026	159108M	17.000	2,000.00000	34,000.00				
	CONTROL TRUCK WIT ED CRASH CUSHION	H U						
0027	159141M	2,390.000	85.00000	203,150.00				
TRAFFIC	DIRECTOR, FLAGGER	HOUR						
0028	159300M	598,096.000	0.23000	137,562.08				
TRAFFIC	STRIPES, LATEX, 4"	LF						
0029	159302M	28,370.000	0.44000	12,482.80				
TRAFFIC	STRIPES, LATEX, 8"	LF						

Page 4 of 16

Tabulation of Bids

Contract ID: 17114 Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017 District(s): C1, N1

Call Order: 114 Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set / A	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Roadway		Cat Alt	: Set:	Cat A	It Member:	
0030 1	159310M	49,382.000	0.50000	24,691.00				
TRAFFIC MALATEX, 4"	ARKINGS LINES,	LF						
0031 1	159312M	220.000	1.00000	220.00				
TRAFFIC MALATEX, 8"	ARKINGS LINES,	LF						
0032 1	159313M	1,866.000	1.45000	2,705.70				
TRAFFIC MALATEX, 12"	ARKINGS LINES,	LF						
0033 1	159314M	2,967.000	3.00000	8,901.00				
TRAFFIC MALATEX, 24"	ARKINGS LINES,	LF						
0034 1	59320M	1,938.000	2.30000	4,457.40				
TRAFFIC MA	ARKINGS SYMBO	DLS, SF						

Page 5 of 16

Contract ID: 17114 Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017 District(s): C1, N1

Call Order: 114 Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Ro		Roadway		Cat Alt	: Set:	Cat A	It Member:	
0035	160004M	1.000	10,000.00000	10,000.00				
FUEL PRI	CE ADJUSTMENT	DOLL						
0036	160007M	1.000	10,000.00000	10,000.00				
ASPHALT	PRICE ADJUSTME	NT DOLL						
0037	161003P	(1)	50,000.00000	50,000.00				
FINAL CL	EANUP	LS						
0038	201003P	(1)	150,000.00000	150,000.00				
CLEARIN	G SITE	LS						
0040	302042P	835.000	95.00000	79,325.00				
DENSE-GRADED AGGREGATE SY BASE COURSE, 8" THICK								
0041	401017P	6,744.000	25.00000	168,600.00				
MICRO-M	ILLING	SY						

Page 6 of 16



Tabulation of Bids

Contract ID: 17114 Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017 District(s): C1, N1

Call Order: 114 Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE Min: Max:

Line No / Item Desc			(1) ASPHAL SYSTEM					
Alt Set / A	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0042 4	101021M	401.000	150.00000	60,150.00				
HOT MIX AS REPAIR	SPHALT PAVEMEN	IT SY						
0043 4	101024M	48,100.000	2.00000	96,200.00				
	F CRACKS IN HOT SURFACE COURSE							
0044 4	101030M	78,409.000	2.75000	215,624.75				
TACK COAT	Γ	GAL						
0045 4	101054M	97.000	260.00000	25,220.00				
HOT MIX AS	SPHALT 12.5 M 64 COURSE	Т						
0046 4	101072M	145.000	260.00000	37,700.00				
_	SPHALT 12.5 M 64 IATE COURSE	Т						



Tabulation of Bids Page 7 of 16

Contract ID: 17114 Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017 District(s): C1, N1

Call Order: 114 Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0047 421010M	6,414.000	92.00000	590,088.00				
SLURRY SEAL AGGREGAT	TE, TYPE T						
0048 421011M	192,426.000	9.80000	1,885,774.80				
SLURRY SEAL EMULSION	GAL						
0049 453006M	100.000	150.00000	15,000.00				
FULL DEPTH CONCRETE PAVEMENT REPAIR, HMA	SY						
0050 602099M	13.000	1,500.00000	19,500.00				
RESET EXISTING CASTING	G U						
0051 602207M	2.000	1,000.00000	2,000.00				
MANHOLE COVER	U						

Page 8 of 16

Contract ID: 17114

Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017

District(s): C1, N1

Call Order: 114

Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE

Min: Max:

	Line No / Item ID Item Description		(1) ASPHAL SYSTEM					
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Roadway		Cat Alt	Set:	Cat A	It Member:	
0052	602210M	70.000	400.00000	28,000.00				
BICYCLE	SAFE GRATE	U						
0053	602213M	129.000	700.00000	90,300.00				
CURB PIE	ECE	U						
0054	602214M	117.000	350.00000	40,950.00				
INLET FA	CE PLATE	U						
0056	607012P	40.000	650.00000	26,000.00				
24" X 41" CURB	CONCRETE BARRIEF	R LF						
0057	610003M	299,590.000	0.36000	107,852.40				
TRAFFIC	STRIPES, 4"	LF						
0058	610007M	14,380.000	0.72000	10,353.60				
TRAFFIC	STRIPES, 8"	LF						

Page 9 of 16

Contract ID: 17114 Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017 District(s): C1, N1

Call Order: 114 Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHAL SYSTEM					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat Alt Member:			
0059	610008M	1,879.000	6.90000	12,965.10				
TRAFFIC	MARKINGS, SYMBO	DLS SF						
0060	610012M	404.000	43.00000	17,372.00				
RPM, MC LENS	DNO-DIRECTIONAL,	WHITE U						
0061	610013M	24,691.000	0.87000	21,481.17				
TRAFFIC	MARKING LINES, 4	' LF						
0062	610014M	110.000	2.30000	253.00				
TRAFFIC	MARKING LINES, 8'	' LF						
0063	610016M	950.000	2.87000	2,726.50				
TRAFFIC	MARKING LINES, 12	2" LF						
0064	610017M	3,756.000	5.50000	20,658.00				
TRAFFIC	MARKING LINES, 24	4" LF						

Page 10 of 16

Contract ID: 17114 Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017 District(s): C1, N1

Call Order: 114 Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0065	610018M	110.000	43.00000	4,730.00				
RPM, MO AMBER I	ONO-DIRECTIONAL, LENS	U						
0066	610021M	248.000	43.00000	10,664.00				
RPM, BI- LENS	DIRECTIONAL, AMB	ER U						
0067	610027M	600.000	18.60000	11,160.00				
REMOVA RPM LEN	AL AND REPLACEME NS	NT OF U						
0068	610033M	54,318.000	0.42000	22,813.56				
RUMBLE	STRIP	LF						
0069	610036M	337,263.000	0.72000	242,829.36				
REMOVA	AL OF TRAFFIC STRI	PES LF						

Min:

Page 11 of 16

Contract ID: 17114

Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017

District(s): C1, N1

Call Order: 114

Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE

Max:

Contract Description: Rt 46 & Rt 206 & Rt 208 Pavement Preservation, Slurry Seal

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0070	610039M	2,219.000	6.10000	13,535.90				
REMOVA	AL OF TRAFFIC MARI	KINGS SF						
0071	612006P	541.500	48.00000	25,992.00				
	IGN, TYPE GA, STEE JPPORTS	EL "U" SF						
0072	704129M	1.000	41,400.00000	41,400.00				
	ER STATION ROADW 3 3 LANES	'AY U						

Section Totals: \$5,633,234.12

Page 12 of 16

Contract ID: 17114

Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017

District(s): C1, N1

Call Order: 114

Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE

Min: Max:

Contract Description: Rt 46 & Rt 206 & Rt 208 Pavement Preservation, Slurry Seal

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Construction		ngineering	Cat Alt Set:		Cat A		
0008 155012M	1.000	38,000.00000	38,000.00				
FIELD OFFICE TYPE D SET I	UP U						
0009 155030M	15.000	5,000.00000	75,000.00				
FIELD OFFICE TYPE D MAINTENANCE	МО						

Section Totals: \$113,000.00

Min:

Page 13 of 16

Contract ID: 17114

Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017

District(s): C1, N1

Call Order: 114

Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE

Max:

Contract Description: Rt 46 & Rt 206 & Rt 208 Pavement Preservation, Slurry Seal

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC						
Alt Set	/ Alt Member Quanti	ty and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0003 No	on-Participatir	ng Items (Roadway) Cat Alt	Set:	Cat A	It Member:	
0002	152004P	1.000	4,000.00000	4,000.00				
-	S AND CONTRACTOR'S TIVE LIABILITY NCE	DOLL						
0003	152012P	1.000	4,000.00000	4,000.00				
RAILROA INSURAI	AD PROTECTIVE LIABILITY NCE	DOLL						
0004	152015P	1.000	21,331.00000	21,331.00				
POLLUT	ON LIABILITY INSURANCE	DOLL						
0055	602216M	258.000	398.00000	102,684.00				
CLEANIN STRUCT	IG DRAINAGE URE	U						

Section Totals: \$132,015.00

Page 14 of 16

Contract ID: 17114 Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017 **District(s):** C1, N1

Call Order: 114 Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description			(1) ASPHALT PAVING SYSTEMS INC					
Alt Set / Alt Member Quantity and Units		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	l : 0004	Erosion Control		Cat Al	Set:	Cat A	It Member:	
0012	158006M	2,952.000	1.00000	2,952.00				
SILT FENC	CE	LF						
0013	158012M	9,536.000	1.00000	9,536.00				
HEAVY DUTY SILT FENCE, BLACK LF								
0014	158030M	266.000	1.00000	266.00				
INLET FILTER TYPE 2, 2' X 4' U		U						
0015	158033M	87.000	1.00000	87.00				
INLET FIL	TER TYPE 2, 4' X 4'	U						
0016	158063P	(1)	1.00000	1.00				
CONCRET	TE WASHOUT SYST	EM LS						
0017	158072M	6.000	400.00000	2,400.00				
OIL ONLY TYPE 1	EMERGENCY SPILI	_KIT, U						



Page 15 of 16

Contract ID: 17114

Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017

District(s): C1, N1

Call Order: 114

Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE

Min: Max:

Contract Description: Rt 46 & Rt 206 & Rt 208 Pavement Preservation, Slurry Seal

Line No / Item ID Item Description	(1) ASPHALT PAVING SYSTEMS INC						
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0018 158084M	240.000	1.00000	240.00				
EROSION CONTROL SEDIMENT CY REMOVAL							
0039 203041P	2,660.000	3.00000	7,980.00				
GEOTEXTILE, ROADWAY SY STABILIZATION							

Section Totals: \$23,462.00



Page 16 of 16

Contract ID: 17114

Counties: BERGEN, MORRIS, SOMERSET, WARREN

Letting Date: May 16, 2017

District(s): C1, N1

Call Order: 114

Project(s): 100% STATE

Contract Time: 09/04/18 COMPLETION DATE

Min: Max:

Contract Description: Rt 46 & Rt 206 & Rt 208 Pavement Preservation, Slurry Seal

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS INC					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	General Landscape		Cat Alt Set:		Cat Alt Member:		
0073 805003M	7,907.000	8.00000	63,256.00				
TURF REPAIR STRIP LF							
Section Totals:			\$63,256.00				
		\$5,964,967.12					
Co		\$5,964,967.12					

() indicates item is bid as Lump Sum

Page:



Vendor Ranking

Contract ID: 17114 Counties: BERGEN, MORRIS,

SOMERSET, WARREN

Letting Date: May 16, 2017 10:00 AM District(s): C1, N1

Contract Time: 09/04/18 COMPLETION DATE

Contract Description: Rt 46 & Rt 206 & Rt 208 Pavement Preservation, Slurry Seal Project(s): 100% STATE

Rank	Vendor	ID/Name	Total Bid	Percent Of Low Bid
1	A8048	ASPHALT PAVING SYSTEMS INC	\$5,964,967.12	100.00%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,

Call Order:

114